[pizBuuie:

Bukonait nepemeopenns

Il am3cem=
SamT7cem=
ImM4 M=
8MS5 M=

1 noGa 5 ron =
Il rog 8 xB=

[IpizBuine:

cM
cM
JIM
M
roj
XB

Buxonait nepemeopenns

lam3cem=
SamTem=
3mM4 gm=
M5 M=
1 noba 5 roa =
1 ron 8 xB =

[pizBuie:

cM
cM
M
JIM
roj
XB

Bukonaiu nepemeopennn

lam3cem=
SamT7cm=
3M4 M=
M5 M=

1 106a 5 rog =
Il ron8 xB=

[TpisBuie:

cM
cM
JIM
M
roa
XB

Bukouait nepemeopenns

lam3cm=
Sam7cm=
ImM4 qm=
8M5 M=
1 noba 5 roa =
I rong 8 xB =

cM
CM
M
JIM
roj
XB

23 1M = M M
65 Mm = CM MM
78 cm = JIM CM
100MmM=__  cm
25rop=___  noba____ rox
70 xB = roj XB
23 oM = M M
65 MM = cM MM
78 cm = M cM
100MM=__ c¢cM
25ron=___ poba_ rox
70 xB = roxu XB
23 M = M JIM
65 MM = cM MM
78 cm = JIM M
100MmM=__  cm
25ron=___  poba___ ron
70 xB = roj XB
23 1M = M M
65 Mm = CM MM
78 cm = M cM
100Mmm=_  cmMm
25ron=___ poba__ roj
70 xB = roj XB




